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1. In this problem y = ze® + z2.
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2. Find the derivative of y = cot (3z” + z).
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3. Find the derivative of y = 27 cos (7z).
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4. Information about functions f(z), f'(z), g(z) and g'(z} is tabulated below.  Let h(z) = f(g(z))
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(c) Find the equation of the tangent line to y = h(z) at (2, k(2)).= ( Zj 3 )
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- 1. In this problem y = 3z + cos(5z).
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2. Find the derivative of y = y
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3. Find the derivative of y = sin (3z% + a:)
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4. Information about functions f(z), f'(z), 9(z) and ¢’(z)} is tabulated below.  Let h(z) = f(g(z)).

)
(2) h(3)=7ffg(3)):3c(l/):m If(ﬂ;) o T
(b) hf(s):f’(g(g))gf(z):73’(5,)ﬁ/(3) J;(m)) g ; é % 5 -1
= 5’[“3) = [-—-ISI

T
(
gz 0 -1 -1 -—
(c)} Find the equation of the tangent line to y = h(z) at (3, A(3)) = ( 3} 1)
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